(30 )

2’)0)§§ﬁy=sm(x+%) ¢ y=sin2z 0)7‘370)0§x§g®§5531‘

BEn28R%, BOZHHIC 1 [EEIETTEZZUEOETEEZRD X,



{ 4= SIM(?H%)

! 4
/g.':. S\\h 2%
. :S-lh(x*%c‘)
-39 fik‘ﬂlﬁ‘f?ﬂ??{’c&@, Sin(R-8)=851nb / |
Sin(L+ F)=sm2x &y G \ =
| . o F 7 B
™o LS ¥ W 2
A+ Y 2x 73.T.—.l§( A+ 3 MT=2% Y - sin2X
= T .
>C=%; , 54 ShGg D<As L ¢ #ET,

A® £, ‘-\2&53%#‘{&\/&7{3\:
V=" jf;sm 2xdx — jmsw(h")dx

2
g

{ SinZax - sint(x+ %)B dz

T ¥ B -
Za S-ngb= l~—2cos
hj‘T | = (D5 4% \—c.osz(xﬂé}éx

= IC LIS SR

'n.»{ 2 2

E

"
.. 24{ —ws4x+co$(21+—)} dz
=50

: =

o

= 125[._%3.%47( + 9m(21+7)]£

' 7

: S ok 4 Lenl
= %{—ZSW‘%'f-—;_—S\V‘T‘(——QW = 4 % Tha }
~ [ ! tol - F 1 'l_‘}

=‘z—{“z’<(‘?>*zxz ( 4*2)
I VERE
= ?X 3
ek
TS

%



